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QUESTION 1

Which statement about column-organized tables is true? 

A. Databases with column-organized tables can be federated. 

B. Schemas that include column-organized tables can be transported. 

C. Sort memory can be automatically tuned in environments containing column-organized tables. 

D. Queries that use the Currently Committed semantics can be used with column-organized tables. 

Correct Answer: A 

 

QUESTION 2

When can a high availability disaster recovery (HADR) role switch operation be performed in a DB2 pureScale
environment? 

A. When crash recovery is occurring on the standby cluster. 

B. When all the log streams are in peer or assisted remote catchup state. 

C. When the primary database is not connected to the standby database. 

D. All the log streams are in remote catchup state and the synchronization mode is NEARASYNC. 

Correct Answer: D 

 

QUESTION 3

Which scenario does NOT require intraquery parallelism? 

A. The execution of the LOAD command against an empty column-organized table. 

B. A DML operation that references a populated column-organized table. 

C. The execution of the RUNSTATS command against a populated column-organized table. 

D. The addition of a primary key constraint to an empty column-organized table. 

Correct Answer: D 

 

QUESTION 4

When the DB2_COMPATIBILITY_VECTOR registry variable is set to ORA, what is the maximum row width size for
database tables? 

A. 32 KB 
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B. 64 KB 

C. 1MB 

D. 2 MB 

Correct Answer: B 

 

QUESTION 5

How is the Query Workload Tuner license installed and enabled? 

A. With Data Studio, using the license activation kit. 

B. By executing the db2licm command after data server installation. 

C. With the Optim Performance Manager Server, using the license activation kit. 

D. By running the Query Workload Tuner license activation command on the appropriate WebSphere server. 

Correct Answer: A 
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